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char name[] = "John";
int age = 12;

char gender[] = 'H#';
char phone[] = '21567234";
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char namel[] = "John";

int agel = 12;

char genderi[] = '5°';

char phonell[] = '21567234"; RASE: BB KZ . =
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char name2[] = “May";

int age2 = 11;

char gender2[] = ‘Z';

char phone2[] = ‘13248945";
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namel[2], age[l], gender[2],
char name[][]=["John", "May*, ..1; phone[2] - B5ZERSIEREL
int age=[12, 11, ..];

char gender[][]1=["'&E", 'Z°‘, ..];

char phone[][]=['21567234", '13248945°, ..];
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struct studentStruct { FHRERTEFRE |
char namel[10];
int age;
char gender[4];
char phone[10];
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#include <stdio.h>

struct pointStruct {
int x;
int vy;

} pointl, point2;

int main()

{

return 0;
t
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#include <stdio.h> *\\\

struct {
int x;
int vy;
} pointl, point2;

int main()

{

return 0;
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struct pointStruct {

int x;
int vy;

};

int main()

{
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struct pointStruct pointil;
struct pointStruct point2;

return 0;
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struct ABIREH{
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SRS BUEHE;

typedef struct #EEIRE
BN EHRE,
EntilE BHEH,

FiwiEl, BHEEL;
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struct pointStruct { pointi1={13,14}; point2={x:3,y:4};
1nt X; Pointl Point2
int y; )
} pointl, point2; x = 13 X =3
y = 14 y = 4
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#include <stdio.h>
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stlf'u‘(c:t r.)ointStruct { ENTEEIER - =1
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%E/tljﬁi*%mm }pointl, point2; 14 312 y SE
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RE x By 7 typedef struct pointStruct pointType:

|EEE'£}'L‘“9/|\0 . .
e =20 I int main()

{
pointType pointl = {13, 14};

pointType point2 = {x: 3, y: 4}

return 0; .
} Elgdice
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struct pointStruct { x el
int X; AE
int y;

e

struct pointStruct pointl;

struct pointStructé)trPoint;

ptrPoint =Eooint1;

BESYER G

N REERE

[&) 5% 15 FHEXLE (&)

A/ 0O

5% % E 8 15 2
R BERE -




At e Sl

. RAEIRNIESIIESH
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int X;
int y;

s

struct pointStruct pointi[10];
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#include <stdio.h> -\-QE_J. ZI_E'TE Ij-/Li HQ'%:IE %222%1
struct pOintStI'l.JCt { ”QZE1EE/JET 7%([301“1’.[@]
%nt X; {3 5,‘C'}) %guﬂt%éﬂﬁwﬁ
int v; Bl B ARt - \|
}point;
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int main()

struct pointStruct point[3]
{37 5' IC'}’
{47 1' 'a'}’

BTIn 5 m— : %d, p0.z: %c\n", point[0].x, point[@].y,);
printf(" p1 X: %d, p1 y %d, pl.z: %c\n", point[1].x, point[1].y, point[1].z);
printf("p2.x: %d, p2.y: %d, p2.z: %c\n", point[2].x, point[2].y, point[2].z);
return 0;

}
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struct pointStruct pointil;
pointl.x = 13;
pointl.y = 14;
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struct pointStruct pointil;
pointl.x = 13;
pointl.y = 14;
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include <stdio.h>
struct pointStruct
int x;
int y;
i

{

point.x = 10;
point.y = 13;

return 0;

}

int main()

{

printf("[main]x:
return 0;

{

typedef struct pointStruct pointType;

int showPointf (pointType point)

struct pointStruct point = {3, 5};
showPoint(point);
%d, y: %d\n", point

0

printf("[showPoint1]x: %d, y: %d\n", point.x, point.y);

printf("[showPoint2]x: %d, y: %d\n", point.x, point.y);

.X, point.y);
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include <stdio.h>
struct pointStruct {
int x;
int vy;
i
typedef struct pointStruct pointType;

int showPoint (pointType *point
{

point->x = 10;
point->y = 13;

return 0;

}

int main()

{
struct pointStruct point = {3, 5};
showPoint(&point);

return 0; —— |

_|8dice‘
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printf("[main]lx: %d, y: %d\n", point.

printf("[showPoint1]x: %d, y: %d\n", point->x, point->y);

X, point.y);
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printf("[showPoint2]x: %d, y: %d\n", point->x, point->y); cliice - struct $ /%ﬁ :t:*ﬁgf_k
b4 =, -byvalue.exe

[showPointl]x: 3, y: 5
[showPoint2]x: 10, y: 13
[main]x: 3, y: 5
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finclude <stdio.h> initPoint() BERTLEIERY
struct pointStruct {

int x; ERIABES pointType
} 1nt Yi I|\E|T%

’
typedef struct pointStruct pointType;

pointType initPoint(int x, int vy)

pointType point;
pOint-X = X3 $ﬂ1-.rm|:|%
point.y = vy;
return point;

}

int main()

{

dice - struct $ ./ [O{HL&EKE .exe
50 12

pointType point; x: 50, y: 12
int x, vy; {18dice
scanf("%d %d", &x, &y);

point = initPoint(x, vy)

printf("x: %d, y: %d\n", point.x,
return 0;
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EENEERE struct pointStruct {
_ﬂ int x;
—{E AL EE R int y;

} point;
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#include <stdio.h>

struct point {

il

typedef struct point t_point;
int main()

ARHERImBRE AR/
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t_point p; HITRR

scanf("%d", &point);
p.polnt = point;
printf("p.point: %d\n", p.point);

return 0; ,8d7c4
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Ist|0] | 4bytes
ist[2] | 4bytes
ist[3] | 4bytes
HR—EEENCIERELEE ist[4] | 4bytes
sizeof(int) * 5 => 20 bytes
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struct studentStruct

char name[10];
int age;

char gender[4];
char phonel[10];

4
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10+4+4+10=> 28 bytes

name][0] 1bytes
name[1] 1bytes
name[9] 1bytes

age 4bytes
gender[0] 1bytes
gender[1] 1bytes
gender[2] 1bytes
gender|[3] 1bytes
phone[0] 1bytes
phone[1] 1bytes
phone[9] 1bytes
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#include <stdio.h> FH sizeof() B24E1HE

FRNECEEXN/NG 32
ek et bytes - BN
int age; ’ (28bytes)FIA/NFR—HE 2
char gender[4];
char phonel[10]; " ()
}student;
MITHER

int main()

{

S E HEH g
= HZ B

printf("size: %d\n", sizeof(student));

return 0; 5
} lSdice‘
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7|i E% ;&3 Ak h%'\ FJEE :%IZI 5 (4) name(0] | 1bytes
name[1] 1bytes

ClEESHLE —AGTE . .
' . \ name[9] 1bytes

#include <stdio.h> \ X —
ytes
SthCt Stud‘fggiﬂfr““ { B E R AR IR E E X 1bytes

char hamel 291 10+2+4+4+10+2=32 bytes 4

1nt age; y age bytes
char gender[4]; gender[0] 1bytes
}S‘E:anghone“@] ! gender[1] 1bytes
. . ' gender[2] 1bytes
%nt main() gender[3] 1bytes
printf("size: %d\n", sizeof(student)); phone[0] 1bytes
return 0; B9 R T phonel1] | 1bytes

- . - 2bytes =R X & ¥ f
d*ce P i %) Bl phone(s] | 1byes
size: R H i/ N2E50E - \' X 1bytes
/ X 1bytes
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#include <stdio.h> oo oo N
tinclude <stdio.h> NE— T (E— R B AN
“har nameliol; 15 B A -

int age; sizeof (#5182 E{[0]) * P&E5IIK/)\

char gender[4];
char phonel[10];
}student[10];

int main()

{ 4=
printf("size: %d\n“,$izeof(student[0])*10); MITRER

return 0;

dice - struct $ ./ S
‘%Eﬂﬁ-ﬁﬁﬁ@?ﬂ exe

}

ﬂ;%- size: 320
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typedef BEFEMNEREIEE

o
float

double

echar

struct #AERMHE

<

* typedef: B BRI A8 BT Bl 2 (U55)
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1int

Int *
float =*
double *
char =*

struct EBERE *
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typedef int myInt;
int 1ntVarl 10;
myInt intVar2 = 10;

sintVarl 2 intVar2

: C|| &
7|_'|'i|:‘]£535(1) chVarl £ chVar2
EEESPTLT -

typedef char myChar;
char chVarl 'c';
ICI;

myChar chVar2 =

\.

AeEyaniE

char *chPtrVaril

\.

typedef char*x myCharPtr;
&chVvaril;
myCharPtr chPtrVar2

«chPtrVarl E2 chPtrVar2
B E2FciEEE R AR

&chVar2;
)
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#include <stdio.h>

typedef int myInt;
typedef char myChar;
typedef char* myCharPtr;

int main()
{
myInt intVar = 10;
myChar chVar ‘c'
myCharPtr chPtrVar =

intVar:
chVar: c
value of

&chVar;

%d\n", intVar);
%c\n", chvar);
%c\n", *chPtrVar);

printf("intVar:
printf("chvar:
printf("value of chPtrVar:
return 0;

} 1

lSdice‘l

chPtrvVar: c

dice - struct $ ./typedef|fi &} A K8
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E=4: typedef

struct pointStruct {
int Xx;
int vy;

b

typedef struct pointStruct
pointType;

=R

)\

=
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struct pointStruct
— & pointType B AIH
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typedef struct pointStruct
{ o
int Xx;
int y;
}pointType;

struct (1)




E=4: typedef

//;;;clude <stdio.h>

struct pointStruct {
int Xx;
int y;

b

typedef struct pointStruct
pointType;

int main()

{
pointType pointil;
pointType point2;
return 0;

}

5] B
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//;:;clude <stdio.h>

7\

SR B RE struct (2)
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typedef struct pointStruct {
int Xx;
int y;

}pointType;

int main()

{
pointType pointl;
pointType point2;

return 0;

}
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